ГРУПА   А

1.1 a=[1:2:7,5:-2:1];

1.2 A=[zeros(1,4); ones(1,4);6:-1:3]';

1.3 a1=a([2:2:end]); ili a1=a(2:2:end);

1.4 A1=A([2,1],:);
2.1  Inta2=sqrt(dot(a2,a2));

2.2  csx=cosd(X); zcsx=round(csX);

3.1 A3=[linspace(0.3,0.7,3);3:11:25;0:-3:-6;5:7]';

3.2  PA3=prod(A3');

3.3  R=sort(A3(2,:));

3.4  A3(4,5)=6;
ГРУПА   Б

1.5 b=[2:2:8,6:-2:2];

1.6 B=[ ones(1,4);11:-1:8; zeros(1,4) ]';

1.7 b1=b([1:2:end]); ili b1=b(1:2:end);

1.8 B1=B(:,[2,1]);
2.1  Intb2=sqrt(dot(b2,b2));

2.2  ssy=sind(Y); zssy=ceil(ssy);

3.1 B3=[linspace(0.4,1,3);4:12:28;-1:-6:-13;1:3]';

3.2  Pb3=sum(B3');

3.3  R=sort(B3(3,:));

3.4  B3(5,6)=4;
